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Section A

i Answer any 10 of the following: [10x3 =30]

dg.
1) Ca]cu!ate-i—-for the production function Q = 12 -20 2K + 3LKk? +K2

2} Compute Marginal Utility for the total Utility functionU = 9%* — 7X% -3X +3
3} MRis] s0and price elasticity of demand is 2, find the AR.

4) 1fP =1 15and the elasticity is 3, find MR .

3
x
5) ify= -x*—zis the production function , find the Marginal Production function

6) Compute Total cost for the Marginal Cost function C= 2 + 6x -4x%, if Total fixed cost is 50
7) i Marginal revenue function MR = 100 -4Q, find the total revenue function.

8] Calculate the simple Interest for | 7500@13% for 5 years.

9) If demand function is P =25 -3x — 3x2 and the demand’x

'=2 , what will be the consumer
surplus?

10) If Nominal interest rate is 6% and real Interest rate Is 4%, what is inflation rate?

11} If AR.is[ 18& MR is [ 12, find elasticity of demand.

12) Find compound interest after 2 years for principalamount of Rs 100 @ interest of 4% per
year

Section: B :

1. Answer any 2 of the following : [2x5=10]

13} Compute Marginal productivity of LabouratK=1and L= 2 for the production function
X =3KL? + 4K2L + 2L + 2K.

14} Verify Euler’s theorem X -g + y.% = 3f,For the function f(x, y) = x 3 +3y 3%y



15) Solve the following behavioural equattans of a market, by using Cramers rule .[to find vilues

of Xiand x; ]
2% +3xy =13
Ry + 7y, =23
Section C.
4. Answer any 2 of the following :[2 x 15 = 30}

16) For the utility function U = f{x, Y ). The price of x = 5 and also the price y = 5, the budget or
incomeisll 50, Find the equilibrium level of consumption of xand y .

17} State the conditions for firms equilibrium and derive level of output , price, Total revenue ,
total cost and profit for R = 12x -4x%and AC= 8 —x.

18) Afirm has the Total cost function C = §q3 —7¢* + 111+ 50 And demand function,

Q=100 - P . Find the output that maximises profit . What is the maximum profit, total
Revenue, Average revenue , marginal revenue , total cost , Average cost and Marginal cost?
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